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QUESTION 1

Which statement is FALSE about Summary reconciliations?

A. The Group Detail tab shows transactions for the sub segments.

B. You can select Show All on the Balance Summary tab to view balances for the child reconciliations.
C. Summary reconciliations include other individual reconciliations as children.

D. The Unexplained Difference on the Balance Summary tab shows the total unexplained difference for all the child
reconciliations.

Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/saas/account-reconcile-cloud/adarc/GUID-3B2518AE-A5E544CD-
A032-5CB119F087FE.pdf

QUESTION 2

Which reconciliation method is appropriate for a prepaid insurance reconciliation that explains the current month
balance?

A. Balance Comparison
B. Transaction Matching
C. Variance Analysis

D. Account Analysis
Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/saas/account-reconcile-cloud/adarc/GUID-3B2518AE-A5E544CD-
A032-5CB119F087FE.pdf (4-20)

QUESTION 3

Which keyword in a Teams import file identifies the section with the team members?
A. #team_children

B. #team

C. #team_items

D. #dependents

Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/saas/account-reconcile-cloud/adarc/GUID-3B2518AE-A5E544CD-
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QUESTION 4

Which statement is always true of data loads from Data Management?
A. You must select either Actual or Budget as the scenario for the data.
B. You cannot load data into reconciliations with a status of Closed.

C. Only users with the administrator role can run data loads.

D. If there is no change in the balance, the reconciliation is not updated.

Correct Answer: A

QUESTION 5

Which statement about manual matching in transaction matching is FALSE?

A. You can manually match transactions only if the amounts are within the tolerance.

B. Transactions for which auto-matching rules did not find matches can be manually matched.
C. You must be a power user or service administrator to create manual matches.

D. You can create adjustments to balance a match set.

Correct Answer: A
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